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SECTION - A
General Aptitude

Choose the most appropriate option.

Direction Q.No.1-2:

In the following (uestions choose the word
opposite in meaning to the given word,

1. Antagonism :

(A)  Cordiality {B) Animosity
(C) Hostility (D)  Enmity

2. Hasten:
(A) Dash (B) Dawdle
(C) Hurry (D) Scutry

Direction Q.No.3-4:;
In the following questions, aut of the four

alternatives, choose the one which best ex presses
the meaning of the given word.

3. Camouflage :

(A) Disguise (B) Cover

{C} Demonstrate (D) Fabric
4. Yearn:

(A) Deny {B) Accept

(C) Confront (D)  Crave

Direction 5 - 8

The following pie-chart shows the percentage

distribution of the expenditure incurred in
publishing & magazine. Study the pie-chart and
answer the questions based on it.

Various Expenditures (in percentage)
Incurred in Publishing a Magazine

Promotion Cost

100",’} [ Printing Cost

20%

Royalty

BV
qen p:
.13 ] i

[ransportation
Cost 10%

Binding Cost

20%, Paper Cost

25%

'5, What is the central angle of the sector

corresponding to the expenditure incurred
on Royalty ?

(Ay 15° (B) 24°
{Cy b54° (D) 48°
6.  The price of the magazine is marked 20%

above the C.P. If the marked price of the
magazine is I 180, then what is the cost of
the paper used in a single copy of the
magazine ?

{(A) T36 (B) 3750

©) T42 (D) T44.25

7. Iffor a certain quantity of magazine, the
publisher has to pay ¥ 30,600 as printing
cost, then what will be amount of royalty
to be paid for these magazines ?

(A)  T19450 {B) 21,200

©  T22,950 (D) ¥26,150
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Royalty on the magazine is less than the
printing cost by :

Bl { e
(A) 5% (B)  S35%

() 20%

(D) 25%

Direction 9-11

The table given here shows production of five
types of cars by a company in the year 2010 o
2015, Stucly the table and answer the questions.

.

The production of which type of cars was
25% of the total production of all types of
cars during 2014 ?

(A) S
© Q

Birection Q.No. 12-14:

Read the following information carefully and
answer the questions given below

(P, QRS Tand Usix members of a (amily,
Production of Cars by a Company each of them engaged in a different
profession Doctor, Lawyer, Teacher;
Year/ Engineer, Nurse and Manager.
2010[201112012{2013]2014]2015{Total _ ‘ . n
Type (i) EBachof themremains athome on a different
P 8 | 20 | 16 117 | 21 1 < 28 day of the week from Monday to Saturday.
i - J .
_ : “ P - (iii) The lawyer in the family remain at home
Q 1610 j1aja2)12 )14 78 on Thursday.
' 21 | - ' 1o 17 9 . -
R 76| ops ) 8 v (iv) Rremains at home on Tuesday.
5 4 041 20013 87 .
S 6 [ 6 o1 3 (v} P, aDoctor, does not remain at home either
T 25 V18 [ 19 | 30 | 14 | 27 1133 on Saturday or on Wednesday.
Total{ 74 | 71 } 75 | 90 | 80 | 86 | 476 (vi) Sisneither the doctor nor the Teacher and
remains at home on Friday.
(vit) Q is the Engineer and T is the Manager.
9. In which year the total production of cars
of types P and Q together was equal to the
total production of cars of types R and § | 19, Which of the following combinations is
together ? correct ?
(A) 201 {(A) Lawyer - Tuesday
12 1
(B) 2012 (B)  Nurse- Friday
. y
(©) 205 (C)  Manager - Friday
(D) None of the above L p.
(D) Engineer - Thursday
10.  In which year the production of cars of all
types taken together was approximately | 13.  Which of l‘?xa*. following combinations is
equal to average during the period ? not coryect ?
(Ay 2010 (By 2012 (A) R-Teacher (B) Q- Engineer
(Cy 2014 (D} 2015 {C)  T-Manager (D} S-Lawyer
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14, Who is the Nursge ?

(A) S By R
Gy U (D)  Data inadequale

Direction Q.No. 15;

Three of the words will be in the same

classification, the remaining one will not be. Your
answer will be the one word that does NOT
belong in the same classification as the others.

15.  Which word does NOT belong to the
others ?

(A} Tape (B} Twine
(C) Cord (I3) Yarn

Direction Q.No. 16 - 18

Study the following information's carefully and ,

answer the questions given below

(i)  Six persons A, B, C, D, £ and F are taking
their breakfast in two groups facing one
another,

i} Dand A are not in the same row.
iii) Eis to the left of F and faces C.
iv)  Bisin the middle of a group.

v)  Disto the left of B,

16. Whofaces B?
(A}y C B) A
Q) E (D) F

17, Who of the following are sitting in the same

18, Which of the following paivs are facing each

other ?
(Ay CA By BA
(€} DA (D} DE

19.  Find the missing number in the following

question.
/'\\\ ’/.’) .

841/ N T84 225 ~ 196
/ 7 N TN
........ \ a
729 169

(A 32 By 42

< 62 (y 82

20. If = mweans -+, -~ means -+, X omeans o
and -+ means ¥, then
(3x 4) - 8x 4
A+ 8x 24+ 16+1
(A) 1 (B -1
< 2 (I 0

Direction Q.No. 21 -22:

Iir each of the following letter series, some of the
letters are missing which are given in that order
as one of the alternatives below it Choose the
correct alternative.

21, aaa_bb aab baaa_bb
(A) abab (B} bbaa
(C)  babb (D) Dbaab

row ? 22, abca_bcaab_aa_caa ¢
(A) AEB (B) EFB {A) bbac (B)  bbaa
(C) DEF (D)  AEF {Cy  acbb (1) acac
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Direction (3.No, 23 - 24
b each of the following questions, one term in
the rumber sevies is wrong, Find out the wrong
term,

- R T T T X B I R IR T
230 125,026, T2, 127,125,129

(A)
(<) 126

123 (B) 124

Dy 129

24, 52,51, 48, 43,34, 27,16
(A) 51 By 48
(Cy 34 () 43
irection Q.No. 25 -27:

In each of the following questions, a series is
given with one term missing. Choose the correct
alternative that will continue the same pattern
and fill in the blank space.

, 123,214, 341

(A) 65 By 70
@« 72 (D) 62

26, 71,76,69, 74,67, 72,

(A) 65 (B) 76
)y 77 (D) 80

27. 50,49, 46, 41,34,

() 32 (B) 25
© 2 0y 19

Drivection (.No. 28 - 29

in each of the following questions, find out the
correct answer from the given alternatives.

28.  1f in a certain language MECHANICS is
coded as HCEMASCIN, how is POSTER
coced i that code ?

(A) OPTSRE (B) SOPRET
(C)  RETSOP (D) TERPOS

29. U TABLEiscodedas GZYOV, how is JUICE
coded 7

(A)  OZLF (B)  QFRXV
() HOFAD (D) QZHMT

PHrection Q.No, 30 -32:

In each of the following questions, there is a
certain relation between two given words on one
side of : : and one word is given on another side
of : 1 while another word is to be found from the
given alternalives, having the same relation with
this word as the words of the given pair bear.
Choose the best alternative.

30, Engineer: Map : : Bricklayer:?

(A) Design (B} Templet
(Cy © Mouldd () Cement

31.  Major: Battalion : : Colonel : ?
{A) Company (B)
()  Army (D} Soldiers

Regiment

32, Virology : Virus : : Semantics : ?

(A}  Amoeba {B) Language
(C)  Nature (D} Society

A/ Page 5
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Direction Q.No, 33 -35:

The following questions consist of two words
each that have a certain relationship to each other,
followed by four lettered pairs of words, Select
the leltered pair that has the same relationship
as the original pair of words.

33.  Symphony : Music
(A)
(B} Qde: Prose
(©)
()

Mural: Painting

Preface : Book

Editorial : Journal

34, Maedicine : Capsule

{A) Pearl: Shell

(B) Passenger: Bus
(C) Heart: Lungs
(D} Car: Vehicle

35, Identity : Anonymity
(A)
(B} Careless : Mistake
(C)  Truth: Lie
(D)

Flow : Perfeclion

Fear : Joy

Direction Q.No, 36 - 37

Each of the following questions the first two
words have definite relationship. Choose one
word out of the given four alternatives which will
fill in the blank space and show the same
relationship with the third word as between the
first two.

36. Cobra is related to Snake in the same way
as Leopard is related to
(A)
(©)

Tiger (B)

Cat () Zebra

37, Memorise is to Amnesia as Movement is (o

()
(B} Lethargy
©
{1

Lubrication

Paralysis

Hermit

Direction (3.No. 38 - 41 :

In each of the following questions, three out of
four alternatives contain alphabet placed ina
particular form. Find the one that does not belong
to the group. '

38. (A) BCDEI (B)  PQRSW
(C)  LMNOS (D) HIKLO
39. (A) LNMO (B) CRDT
(C) EUFV (D) GWHX
40. (A) CBAZ (B)  AZYX
(C) AZBY (D) PONM
e (A) JMmP (B) RUX
() UYB (D) EHK

42. A train started from Mumbai at 6.00 AM.
On the next(second) station 1/3 passengers
got dowtand 96 got in. On the next {third)
station, %2 of the total passengers present
in the train, got down and 12 came in. Now
there were 248 passengers in the train,
when the train started from Mumbai, the
number of passengers was

i/
(A) 435 (B) 564
C) 654 Dy 736
(© )
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43, The LCM of two nuunbers is 45 times their
HCEF T the sum of the LOM and the HOF
of these two numbers s 1150 and one of
the numbers is 125, then the other number

14
(A) 256 (B) 225
Q) 250 (D) 255

Direction Q.No. 44 - 45 :
Find out the wrong term from the following series

and select the number from the alternatives which
will replace the wrong term in the series.

4. 299,178, 97, 48,24, 14,13 :
(A) 175 By 295
© 23 (D). 10

45, 2,9,28, 65,126, 216, 344 :
(A) 38 (B8) 217
(C) 356 (D) 66

46.  The ratio between Sumit's and Prakash's
age at present is 2 : 3. Sumit is 6 years
younger than Prakash. The ratio of Sumit's
age to Prakash's age after six years will be :

(A) 1:2 (B) 2:3

48.

49,

50.

The ratio of ages of the father and his son
at present is 12 1 5, the difference of their
age s 26 years. What will be the ratio of
their Ages after eight years ?

(A) 2:2 (B) 3:1

< 2:1 (b)y 3:2

Two pipes A and B can fill a water tank in
20 and 24 minutes respectively and third
pipe C can empty at the rate of 3 gallons
per minute. If A, B and C opened together
filled the tank in 15 minutes, the capacity
(in gallons) of the tank is

(A} 60 (B) 120

© 150 (D) 180

A can run 200 m in 35 seconds and B in
38 seconds. By what distance A beats B ?

. gn 2
(A) 15m (B} 13";5" m
15 4
15— 15—
(<) 1o m (I3 1o M

51, A train slarts at 7 am. from A towards B
) 3:4 (D) 3:8 with a speed of 50 'km/hr. Anocther train
from B starts at 8 a.m. with a speed of
60 km/hr towards A. Both of them meet at
) 10 a.m. at C. The ratio of the distances AC
47, If the difference between a number and to BC is -
1/5% of it is 84, what is the number ?
(A 115 (B) 95 (A) 4:5 (B) 5:4
{C)y 105 (D} 125 {Cy 5:06 () 6:5
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53

54,

56.

The average of the husband and his wife
was 23 vears at the e of thele mariage.
After five years they have a one year old
child. The average age of the family now
is:

(A) 293 years (B)y 285 vears

(¢} Z3vears (DY 19 years

1740 of 60% of a number is equal to 2/ 5th
of 20% of another number. What is the
respective ratio of the first number to that
of second number ?

(A) 8:15 (B) 5:9
€ 8:13 D) 4:7

A&B together have T 1210, 1f 4/15 of A's
amount is equal to 2/5 of B's amount, how
much amount does B have?

(A) T 66d (B) -~ T550

(C) T84 (D) T 460

FHow many one rupee coins, 50 paise coms
and 25 paise coins of which the numbers
are proportional to 4, 5 and 6 are together
worth¥327

(A) 16,20, 24 (B) 12,16,20

() 20,24, 28 (D) 24, 28,32

Two dice are thrown simultanecusly. The
probability of obtaining a total score of 5
is

(A) 1/18 ®  1/12
<y /9 (D} None of these

59,

60.

A tradesman wmarks his goods at such a
price that after allowing a discount of 15%,,
he earns a profit of 20%. Find the marked
price of an article which costs him T 850,

(A) 1200 (B) T 1300

(C) 1250 (D) T 1350

In a camp, there are meals for 120 men or
200 children. 1f 150 children have taken
their meals, how many men will be catered
to with the remaining meal ?

(A) 50 (B) 40

©) 30 (D) 20

56 men can complete a piece of work in
24 days. In how many days can 42 men
complete the same piece of work ?

(A) 48 (B 32

) 20 (D) 16

A boat travels upstream from P to Q@ and
downstream from (Q to P in4 hours. If the
speed of the boal in still water is
12 km/hr and the speed of the current is
4 km/hr, then what is the distance from P
o Q7

L1 L
(A) 31 5 km By 4l y km
(C) 212 km (y 11 . km
- 3 ¢ ’ 3
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62,

63.

SECTION - B

COMPUTER SCIENCE/ENGINEERING

Choose the most appropriate option.

Palindromes can’t be recognized by any
Finite State Automata because :

{A)  FSA cannot remember arbitrarily
large amount of information

(B}  FSA cannot deterministically fix the
midpoint

{C)  Even if the micl-point is known an
FSA cannot find whether the second
half of the string matches the first half

(D) Allof the above

Process of analyzing relation schemas to
achieve minimal redundancy and insertion
or update anomalies is classified as :

{A) normalization of data

(B) denomination of data

(€)  isolation of data

() de-normalization of data

1 L1 s CFL and L2 is regular language

which of the following is false ?

(A)  L1-L2is not Context free

(B} L1 intersection L2 is Context free
(C)  ~Lt1is Context free

{0} Both (A} and {C)

65,

66,

67.

The Circuit is equivalent to

(A} ORGate (B) NOR Gate

(C)  AND Cate (D) EX-OR Gate

Let G be a simple undirected planar graph
on 10 vertices with 15 edges, If G is a
connected graph, then the number of
bounded faces in any embedding of G on
the plane is equal to :

(A) 3 (B) 4
(35 D) o

* Which of the following is wrong ?

{A) Turing machine is a simple
mathematical model of general
purpose computer

{B) Turing machine is more powerful
. than finite Automata

(€)' Turing machine can be simulated by
a general purpose computer

(D) Al of these

The Knapsack problem belongs to which
domain of problems ?

(A)  Optimization
{B) NP Complete
{C) Linear Solution

{D}  Sorting

A/Page 9
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68.

69.

70.

71.

What will be output if you will compile and
execute the following ¢ code ?

void main( ) {

char ¢c=125;

c=c+10;
printf("%d", ¢);
}
{Ay 135 (B 115
<y —121 Dy —38
The first Network :
(A) ARPANET (B) NFSNET
{C) CNNET (DY  ASAPNET

The noise due to random behavior of charge
carriers is :

{A) Partition noise
(B) Industrial noise
(C) Shot noise

(D} Flicker noise

A sinusoidal signal is analog signal,
because :

(A) it can have a number of values
between the negative and positive
peaks

(B} it is negative for one half cycle
(C) itis positive for one half cycle

(D) it has positive as well as negative
values :

73.

74,

75.

76.

The running time of Quick sort algorithm
depends heavily on the selection of :

(A} No. of inputs
(B}  Arrangement of elements in an array
{C) Size of elements

(D) Pivot Element

What will be output if you will compile and
execute the following c code ?

void main( } {
printf{" %d",sizeof(5.2));

}

(A 4 (B) 8

© 2 (D) 16

The  identification of common

sub-expression and replacement of run-
time computations by compile-time
computations is :

{A) Local optimization
(B) Constant folding
©

(D) Data flow analysis

Loop optimization

Which of the following need not be a binary
tree 7

(A)  Search tree (B
({C) AVL tree (D)

Heap
B tree

Two main measures for the efficiency of an
algorithm are :

(A) Processor and Memory
{B) Complexity and Capacity
(C} Time and Space

(D)  Data and Space |
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77,

78.

79.

80.

81.

T carrier system is used :

{A)  For delta modulation

(By Industrial noise

() For frequency modulated signals
(1)

None pf the above

Which of the following is not defined in a
good Software Requirement Specification
(SRS) document ?

(A)  Functional Requirement.
{B) Goals of implementation.
(C)  Nonfunctional Requirement.

(D) Algorithm for software
implementation

Communication between a computer and

a keyboard involves __ -
fransniission.

(A} Simplex (B) Half-Duplex
(C)  Automatic (D) Full-Duplex

Bluetooth is an example of :
{A} personal area network
(B} virtual private network
(C) local area network

(D} none of the above

Let A, B, C, D be n X nn matrices, each with
non-zero deferminant. If ABCD =1, then
B1is:

(A) DTIC-1a-1
(B} CDA ‘
(C) ADC

(1) Does not necessarily exist

82.

83.

84,

85.

The structure or format of data is called -
(A} Syntax (B) Struct

{(C) Semantic (D) none of the above

A nonpipeline system takes 50 ns to process
a task, The same task can be processed in a
six-segment pipeline with a clock cycle of
10 ns. Determine the speedup ration of the
pipeline for 100 tasks. What is the
maximuim speedup that can be achieved ?
(A) 4.90,5 (B) 4.76,5
{C) 3.90,5 () 430,5

Given two DFA’s M1 and M2. They are
equivalent if :

(A) M1 and M2 has the same number of
states

(B) M1 and M2 accepts the same
language i.e. L(M1) = L{M2)

{C) M1 and M2 has the same number of
final states

{D} None of the above

A low pass filter 154

{A) Passes the frequencies lower than the
specified cut off frequency

{B)  Used to recover signal from sampled
signal

{C} Rejects higher frequencies

(D) All of the above
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86.

87.

88.

pana

\
. T BT I J—

interval | —, /—-i—[. The number and
focation(s) of the lecal minima of this
function are '

(A) One, at 5
B One,at3]

({©)  Two,at % and 3%
(D) Two, at EL and '3%

What is the solution to the recurrence

'_["(n) o {(g.] +n ?

(A) O ((logn)

® O

(C) O (nlogn)
{[)  None of these

Which one of the following is NOT
necessarily a property of a Group ?

(&)

(B}  Associativity

Commutativity

() Existence of inverse for every element

(£)

Existence of identity

89,

90.

91,

92,

93.

Software Requirement Specification (5R5)
is also known as specification of :

(A)

(B) Integrated testing

White box testing

(C)  Acceptonce testing
)

Black box testing

The IOS class member function used for
formatting 1O is

{A)
{B)  width(), precision(), setf()
(Q)  getch(), width(}, lo(}

() ), setf(), write()

width(), precision(), read()

)
{

unsetl

Rule which states that addition of same
attributes to right side and left side will
resull in other valid dependency is
classified as :

(A) referential rule
(B} inferential rule
(C)  augmentation rule

D)

reflexive rule

Line of code (LOC) of the product comes
under which type of measures ?

(A)
(B) Coding

Indirect measures

(Cy  Direct measures
(D}  None of the above

What will be the Excess-3 code for 1001 ?
(&) 1001 (B} 1010
{1011 () 1100
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94,

95,

96.

97.

98,

How many onto {or surjective} functions
are there from an n-element {n >=2) set to
a Z-element set 7

(A) 20 (B) 2n—1
() 202 (D)

What will be the final cutputof D Elip-Flop,
if the input string is 11010011 ?

(A) 1
(B} ©

(C) Don't Care
(r

D) None of Above

The graph that shows basic blocks and their
successor relationship s called :

(A) DAG

(B) Control graph
(C) Flow graph
(

D) Hamiltonion graph

The principal of locality of reference
justifies the use of :

(A} Nonreusable
(B)  Cache memory
(C)  Virtual memory

{D}  None of the above

What is the testing to ensure the WebApp
properly interfaces with other applications
or databases ?

(A)  Compatibility
(B}  Interoperability
(C)  Performance

(D) Security

99,

100,

101,

102,

103.

External Interrupt may not arise because of -

(A)  llegal or erroneous use of an
instruction

{B} atiming device
(C)  external source

D) 170 devices

A top down parser generates

A} Left most derivation

fes]
e

; Right most derivation

(
{
(C)  Left most derivation in reverse
(

D)  Right most derivation in reverse

The [ETF standard documents are called :
(A)" RFC (B) RCF
Gy ID (D}  none of the above

The maximum number of nodes ina bina ry
tree of levelk, k = 1 is:

(A) -28+1 (B) 2k-1

(€ 2Kt (D) 2kt

Syntax directed franslation scheme is
desirable because :

(A) Itis based on the syntax
(BY  Itiseasy to modify

{C) Its description is independent of any
implementation

(D} All of these
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104. What is described by means of DFDs as | 108, In which one of the following pages
studied earlier and represented in algebraic replacement policies, Belady's anomaly
form ? may oceur ?

(A) Data flow (A) FIFO {B) LRU

(B) Dat_"ﬂ storage (C) Optimal (D) MRU

{C}  Data Structures

(D)  Data elements 109. Considering relational database, functional
dependency between two attributes A and

105 Cb B is denoted by :

A) A—-D B} Be A
AB 00 01 11 10 ) ®)
01 1
11 X 110. Where does the swap space reside ?
o} X |1 X (A) RAM (B) ROM
_A (C) DISK (D} On-chip cache
What will be the equation of simplification
of the given K-Map 7 . . .
o - 111. A process that is based on IPC mechanism
(A) ABD+CD+ABC which executes on different systems and
By BCD+ABRC+AC can communicate with other processes
(TY 4 (™ using message based communication is
© BDAHCD called
D 'D+B CD
o)y < « (A) Local Procedure Call
(B) Remote Procedure Call
106, {00+ 01 +10){0 + 1)* represents : _ _
\ . . (C) Inter Process Communication
{A) Strings not starting with 11
_ : (D) Remote Machine Invocation
{B} Strings of odd length
{CQ) Strings starting with 00
(D)  Strings of even length 112, The concept of order Big O is important
because :
) ‘ _ (A) It can be used to decide the best

107. 1 every functional fiepe“dﬁ‘?‘cy n Sef_ﬁ 'S algorithm that solves a given problem
also in closure of F then this is classified
as - ' t 15 the lower bound of the growt

B) Itis thel k 1 of th h

(A) FDi by E rate of algorithm

! is covered by :
(B) Eiscovered by F (C}  Itdetermines Ehe ma‘xlm'u'nji 51-.4e.0f a
7 problem that can be solved ina given
{C} Fiscovered by E amount of time

(D} F plus is covered by B (D} Both (A) and (B)
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113, Theaddressing mode used inan instruction

114,

of the form ADD XY, is

(&) (B)
© (D)

Direct Absolute

Indirect Indexed

If there is more than one key for relation
schema in DBMS then each key in relation
schema is classified as :

118, CPU consist of

(A}  ALU and Control Unit

(B) ALU, Control Unit and Monitor
(Cy  ALU, Control Unit and Hard Disk
(0} ALLU, Control Unit and Register

119. The Decimal equivalent of the Hexadecimal
(A) prime key number {A0SD}6 is :
(B} superkey (A) 31845 (B) 41117
{C) candidate key (C) 41052 (D) 32546
(D) primary key
120. The sequence of operations in which PCM
115. Process that periodically checks status of is done is
an [/ O devices, is known as : (A) Sampling, quantizing, encoding
{Ay Cold swapping . . _
(B} Quantizing, sampling, encoding
(B) I/O instructions
_ (C) Quantizing, encoding, sampling
(C) Polling '
D)y N f the above
(D)  Dealing ®) onee above
116. Consider a system with m resources of ~o0o-
same lype being shared by n processes.
Resources can be requested and released by
processes only one at a time. The system is
deadlock free if and only if :
(A) The sum of all max needsis <m+n
{(B) Both of above
(C} Thesumof all max needsis > m+n
(D) None
117. The output of lexical analyzer is
(A) A setof regular expressions
{BY) Strings of character
{C) Syntax tree
(D) Setof tokens
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